£ ATC
Sl'j nadx 9 S}A.‘LV‘M

-

- s€3mT (ge)

(3 Hours)

1. Question No.1 is compulsory.
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3. Assume suitable data wherever necessary
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1. Question No.1. is compulsory. Attempt any four ou

2. Attempt any three out of remaining five.

3. Assume suitable data, wherever necessary and j

4. Figures to the right indicate marks.
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(REVISED COURSE)

(3 Hours) [Total Marks: 80]

Note: 1) Q.1 is compulsory

2) Answer any 3 out of remaining questions

Q.1 (A) Explainthe function of SID, TRAP , ALE, and ADO-AD7 pins of processor 8085. (5)

(B) Write features of 8087 math co-processor.

(C) Explain advantages of memory segmentation

(D) Write control word of 8255 to initialize port A as input port, portBand C as
(5)

output port, group Ain mode 0 and group B in mode 1

Q.2 a)What are different types of interrupt supported by 8086 and explain IVT. (10)
b) Draw and explain the architecture of 80286 processar. (10)
Q.3 a)Draw and explain the interfacing of Math co-processor with 8086. (10)
b) Explain Minimum mode of 8086 microprocessor. Draw timing diagram for write
operation in Minimum mode. (10)
(10)

Q.4 a) Design an 8086 based system with following specifications.

i 8086 CPU working at 8MHz
ii. 16 KB EPROM using 8K device
iii. 32 KB SRAM using 16K device

the importance of 8257 DMA controller. Explain method of interfacing DMA

b) Describe
controller with 8086 microprocessor. (10)
Q.5 a)Write a programme to sefip 8253 as square wave generator with 1 ms period
if input frequency of 8253 is 1 Mz (10)
b) Explain Bit Set Reset mode of 8255 with application. (10)
Q.6 a) Write a program for 8086 to find out the maximum number from the array of
10 numbers. (10)
(10)

b) Draw and explain interfacing of ADC 0808 with 8086 Microprocessor using 8255.
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NB.: (1) Question No. | is compulsory.
(2)  Solve any three questions from the remaining ﬂ\aci\ 4
3)
4)

Q.1  Attempt any 5 questions Ly
* a) Compare ideal and practical opamp & & oL
b) What is crossover distortion in pc:-We;a‘?a;gﬁgﬁQJ e
¢) Define differential and common mode’
mode input impedance of dlffercp‘tlaffaﬁ‘nﬁﬂﬁg‘&e \ VLT

d) Daw the circuit diagram of w@a;\\ome souregsand deri

relationship between output @Hén'f and ¢ eﬁ;ﬁ:é_“cmén

e) Draw high frequency hybnti pi equlvﬁe:ht;bﬁ&ﬂaand‘ def*ng-’%he Va
components in the model : :
f) Explain line regulatton“and léati 1 re gulannh\-of’vqltage regulator-.:D '
line and load re gulatlom@araotenétlcsﬁﬁt i D)

regulator. @ KT AR Ry
g &L ‘3}: i.‘?l“-: ~<,-‘-,
Q.2 a) For the mrcultﬁhﬁwn Fig 24 | find midbant [10]

Vee=12Y

33k

bZ . ng = 0.04 pF, Cg = 02pF Ves=3V. Ifa
ﬁle‘output between drain and source determine the
}szf frequency.

@ '-';_,‘u \, d of MOSFET based differential amplifier and derive [10]
T J‘{?ﬁf@ erential gain, common mode gain and CMRR,

‘F 4 ejﬂ%j;‘c“ \itfhown in Fig. 3b, find overall mid band voltage gain and [10]

pacit @ Eagir ,a‘ﬁd Cc2 such that the 3 dB frequencies associated with each
aﬁ\Assume BJT to have parameters VpE (on) = 0.7 V, B =200 and

']

‘e
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| Ej. Wrﬁ? tlgmf {Hqil*ﬁha'}i‘éﬁﬁu@s@ﬁ\b\pampfand also explain the effect of [5]
& high ﬁequéncy »onaQPAMP gairr and phase.

1;\' 2'¢) Diaw the cﬂ\%‘f‘ﬁf ’V:BB éhﬂﬂp]l&fxb@s@i class AB amplifier and explain [5]

. e workmg and,ad?hﬁtaggs e%g—\fﬂilhpher biased class AB amplifier.
0 \n 1\ ‘CQ) W
DK

‘_ ‘%&gﬁ ’ L‘d@ﬁlﬁ’@g\aﬂs}bma coupled class A power amplifier. [10]

f gl

e same. Derive the expression for its

= k._, Ny ny- \' '\.}
%_61‘_ Q’, 'tilffercntlator with the help of input and output [10]
_ggﬁq??gq @Lpressmn for the output voltage. What are the
df%feg@@%r and how to overcome these limitations.
“"ﬁ »‘j—' \.,’

Eg‘*any four) [20]
Series regulator
(fS;‘E'ET
 power amplifier
Hiters
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(3 Hours)

3) Figures to the right indicate full marks.

2) Answer any THREE questions from Q.2 to Q.6.
Ql (a)

N.B. : 1) Question No. 1 is Compulsory.
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b. Sketch the root locus for the system with

s(s2+ 25+2)

G(s)H(s)

= 100
s(s+0.5)(s+10)

Q.5 a. Aunity feedback control system has
G(s)

b. Explain the following terms
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